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(i) gof f
(i) go f .9
(i) ho f=ids f
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| f(@)] =2 , (z,y) =0 (f(x), f(y)) =0
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program ab (input, output);
type
tree = “cell;
cell = record
info : integer;
left, right : tree
end;
procedure ins(x : integer; wvar p
procedure newcell;

begin new (p);
with p” do begin

info := x;
left := nil;
right := nil
end
end;
begin
if p = nil then newcell
else if x < p”.info then ins(x,
else ins(x, p”.right)
end;

procedure out (p : tree);
begin
if p <> nil then begin
out (p*.left);
write (p”.info);
out (p”.right)
end
end;

procedure proc;
var p : tree;
n, i, x : integer;
begin
P := nil;
read (n) ;
for i := 1 to n do begin
read (x);
ins(x, p)
end;
out (p)
end;

begin proc end.

tree);

p".left)



B1 G S :

Ne(S) :={z € G|z 'Sz =S}
Cq(S) ={xreG|ar=xa (Va€S)}

(1) Ne(5) G , Ca(S)  Na(S)
(2) H G a € Ng(H) ) 0,: H— H 0O,(x):=a'za
(1) ea
(i) No(H)/Co(H) —AutH Aut H
H ( H H )
1 a
(3) G =GL(2,Z3), S = {(O 1) €eGlac Zg} , Na(9), Ca(S)
, L3 =17/37
B2
(1) R[X,Y]/(X%+Y?) , CIX,Y]/(X?+Y?)
R[X,Y], C[X,Y]
(2) R=R[X,Y]/(X?+Y?) ,X,Y € R[X,Y] (X2+Y?)
.,,U’ y
(x) R
() R
, R UFD ( )



B3| 3

3 = {(z1,29) € C2 | 21 = T16‘/jl01, 2y = TQG\/TMQ,T% + 7’% =1,120,6; € R}

(1) X = {(21722) € S3 ‘ |21| § \/Lﬁ} D2 X Sl s

D*={zeCll|z|£1}, S'={zeC]||z|=1},

(2) 83 -X
B4| §' = {(ry) e R |22+ =1} R? — {(0,0)} ~
(x,y) ~ (2, ) 0 c = cx Yy =cy

, P! ~ R* —{(0,0)} (R? = {(0,0)})/ ~

1) s+ 1 =

2P 1

x2—y2 233‘3/
h:R?={(0,0)} = R* h(z,y) = <x2 +y? 22 +y2)

(3) (z,y) e R* = {(0,0)} — R? , hz,y) € S*
(4) (z,y) ~ (2,9 h(z,y) = h(z',y)
(5) h h:P'— St h
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B6 s R

n : Jn

fo(z) =nf(nz), ze€R

i [ ugdn = 900) [ s




B8 x v (n,p)

, N ,p O<p<l1
(1) X
(2) Z=X+Y
(3) N 2n Z =N

Bg X17X27'” 7Xn

)

(1) 6;,i=1,2,3

(2) 61,06, 9 7

(3) 65 ~ :
>0 lim P(|0 —0| <e)=1

n—oo
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B10 F n 1% k

C ( ,0<k<n ) v = (v1,ve, - ,v,) EV w(v)

w(v) := {7 [ v # 0}

Vo2 v, u dv,u) dv,u) :=wv—u)
Y X Y |X| Y

(1) C dmin(c) )
Apin (C) = min{ d(v, u) | v, u € C,v # u}

(A) duin(C) = minf{w(v)|v € C, v # 0}
(B) duin(C) <n—k+1

(2) F (n, k) C ,(n—Fk xn H ,

C={v|Hv'=0,veV} o' w

, H | F n « ,m=mn —k ,
1 1 1
anfl aan Qa 1
H — a?(n—l) a2(n—2) o 1
a(m—l)(n—l) a(m—l)(n—?) a™ 1l 1
(A) H m 0
(B) dwin(C) =n—k+1 , (1) (2)
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B11 Scheme ,

(2) ., (flt e)
(define e "(f a (g x (b b y))))

(3) (2) e , (pst e) (f1t (pst e))

(4)

(ev (f1t (pst *(+ (x a x) (*x b y)))))

(5) funlist env (4)

(ev (f1t (pst *(+ (x a x) (*x b y)))))
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(define (flt x)
(letrec ((f
(lambda (x a)
(if (pair? x) (f (car x) (£ (cdr x) a))
(if (null? x) a (coms x a))) ) ))
£x’°0) N

(define (pst x)
(letrec ((f
(lambda (x a)
(if (null? x) a
(cons (pst (car x)) (f (cdr x) a)))) ))
(if (1ist? x) (f (cdr x) (list (car x))) x) ))

(define (ev x)
(letrec (
(s 7O
(push (lambda (x) (set! s (coms x s)) s))
(pop (lambda () (let ((v (car s))) (set! s (cdr s)) v)))
(args (lambda (n p a)
(if (= n 0) (begin (set! s p) a)
(args (- n 1) (cdr p) (comns (car p) a)) )))
(f (lambda (x)
(if (null? x) (if (pair? s) (car s) s)
(let ((fun (assoc (car x) funlist)))
(push (if fun (ap (car x) (args (cadr fun) s ’()))
(val (car x) env)))
(f (cdr x))))))
) (£ x) )

(define ap (lambda (f x) (cons f x)))
(define val (lambda (x a) x))

(define (pairlis x y)
(letrec ((f (lambda (x y a)
(if (null? x) a
(cons (cons (car x) (car y)) (f (cdr x) (cdr y) a))))))
£ xy 20X

(define funlist
(pairlis ’(+ - * / car cdr cons)
(pairlis (222211 2)

(list + - * / car cdr cons))))

(define env (pairlis ’(x y a b) (1 2 4 8)))
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B12 M M

V(M), FV (M) , Viev(Ayz.ayv)) = {x,y, z,v}, FV(zv(Ayz.yv)) = {x,v}
M N )  M=N ,
M ( a- ) N
M=,N M N o , 20(Ayz.y0)y =4 zo(Azu.z0)y
M x N [N/x|M
( 2
(i) [N/z]x = N,

QR) = ([N/2]Q [N/x]R),

(
(
(
(

(v) [N/z](Ay.Q) = Ay [N/2]Q (y & FV(N) ),
(vi) [N/z](Ay.Q) = X\z.[N/x][z/y]Q ( z  V(Azy.NQ)
Ug, Uy, Uz, - . . )

(1) [(Aug.ugug) /ug](Augugug )ug (Aug.uguy )
(2) x  x¢V(Ayz.MN) Y, 2 (y==z )

[ /YlIM/ZIN =q [[z/ylM]2][x/y]N M,N,z,

Y, 2
(3) T u r ¢ V(dyz.MN) u¢V(dryz.MN) Yy 2
(y==2 )

[2/ylIM/2IN =q [[z/ylM [u][z/y][u/z]N

N Q-

2. MN =, QR <— M=,0 N =, R,
3. e M =, \e.N <— M=,N,

4. z¢ V(dey.MN) = [N/z|(A\y.-M) =, A\z.[N/x][z/y] M.
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